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1 Introduction

[

Network Printer System(O|St NPSZ HA[)2| Unit testE

1.1 Objectives
i
Hict

1.2  References

o 231t 7|E0f CHohA 2F5tR, Testing

2015SE_B_NPS_T5_SRA VER 2.0

2015SE_B_NPS_T5_SDS VER 2.0

2015SE_B_NPS_T5_UTP

2.1

Unit test case specification

Test case specification identifier
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Identifier

Input Specification

Output Specification

NPS_UTD_001_1

Temp_who,temp_command
="admin,paper” (ID7} adminO|1, X|7g%t

S0 o m)

"Temp_t_f=T" &

NPS_UTD_001_2

Temp_who,temp_command
starbucks” (ID7f adminO| 1, X|™H3t HH

ool siY oFX| §E )

s =

"Temp_t_f=F" &%

NPS_UTD_001_3

Temp_who,temp_command
="joker,runprint.txt” (IDZt adminO| OfL]

A, EXNte Lio[FE )

"Temp_t_f=T" =&

NPS_UTD_001_4

Temp_who,temp_command
="jokerfile.txt” (ID7} adminO| OfL|11, &

MoHA| E= DHEO|SE )

"Temp_t_f=F" =&

NPS_UTD_002_1

cd.command_t_or_f cdwho = "F~~~"
(correct command OA H0{2 temp_t_f

20| F& O OffH ghof &2glol)

"Condition_out(F)" =&

NPS_UTD_002_2

cd.command_t_or f cd.who = “T, admin”
(correct command O|A EH0{2 temp_t_f
3ol Tolm, Y we

3t2  cd.who”?l admin
2 )

“Determine_Command(),

Condition_out(T)"= &

NPS_UTD_002_3

cd.command_t_or_f, cdwho = “T, joker”

"Divide_User_Input(),

(]|
HAE Q)
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(correct command O|A HO0{2 temp_t_f
20l TO|11, QYH 72

3t2  cd.who?} admin
O ot If)

Condition_out(T)"&%

NPS_UTD_003_1

Or_not = ‘T’ (admin_or_ user22E 24
B2 20| T2ZE2)

“Make_User_Condition(a)"& &

NPS_UTD_003_2

“Make_User_Condition(F)"&

NPS_UTD_004_1

“Consumables File Dismiss..."

e
NPS_UTD_004_2 | Num_of_con=3000>=(3000-m.ink) (X} | “temp_error = 1, temp_time=

Exfots F3e st A9 ol

300071 O]&H Al

(3000-m.ink)/100"=
(temp_time2 X|AE[= A[Zh

NPS_UTD_004_3

Num_of con= 200 <(3000-m.ink) (&%}
EXfst=s At XSt 39| 20|

30007 OJ2H A[)

“temp_error =

n ==
2" =9

0, temp_time=

NPS_UTD_005_1

(Consumables.txt?t 9l E2)

“Consumables File Dismiss..."

e
NPS_UTD_005_2 (@™ | "temp_error = 1, temp_time=

Num_of_con=100>=(100-m.paper)
EXst= J0|t XSt E= S0(2 ol

10070 Ol & Al

(3000-m.paper)/10"& &

NPS_UTD_005_3

Num_of_con=20<(100-m.paper) (31X =
MWote B0t &Xste{= F0[e ol

10070 OJ2HL A

“temp_error =

"=
2"EH

0, temp_time=

NPS_UTD_006_1

(Registereduser.txtZt E=X|SIX| S )

“Registered File Dismiss...."=
2
2

NPS_UTD_006_2

Add_user_date[] ="joker” (0|0 EXjst=

user® &2)

"Make_Admin_Result(S)"& &

NPS_UTD_006_3

Add_user_date[]="starbucks” (EX|S}X| &

= user?l A2

"starbucks is registered”= &

NPS_UTD_007_1 | Delete_user_data[] ="hollys” (EX{S}X| & | “Make_Admin_Result(D)"& &
= user?l E2)

NPS_UTD_007_2 | Delete_user_data[] ="joker” (EXi5l= | “joker is unregistered
user®l &% completely” &

NPS_UTD_008_1 WSt User2t =7+ | “Already Registered User(Does

Error = 'S’ (0|0
P

= gl B2 H not add)” =&
NPS_UTD_008_2 | Error = ‘D’ (EXfSHX| &= User2t AHE | “Unregistered User(Does not
+ Qe 32 "ok QX 3 delete)” =3
NPS_UTD_008_3 | Error = 'S’ (ARZEO0| 0|0] 7}E %€ [f | “Consumables already

1)
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d20{2= QX 2

Full(Limit)” =&

NPS_UTD_008_4

9ol
—

Error =a’ (G&HQ MM Ho=

29)

“Remain ink is 2000, Remain

paper is 20" =

NPS_UTD_009_1

temp_user, temp_filename = “joker”,

“runprint.txt”

“pt.current_filename =
runprint.txt, User_Check(joker)”

=2
24

=

NPS_UTD_010_1

Temp_user = “joker” (AFEX}Q| OFO|C|7¢

SEEl 00|l jokerQ! &)

“Welcome %s, we check about

if print is possible” &%

NPS_UTD_010_2

(registeredusertxt 7} Sl &%)

=z

“Registered File Dismiss” =5

NPS_UTD_010_3

Temp_user ="perfect” (AF2XtQ| OFO|C|7t

SE5/x %2 ofojrjel AL

[

=

“Make_User_Condition(U)" &

24
=]

NPS_UTD_011_1

= 7o O)

(waitqueuetxt 7t 8l 8%

Waitqueue.txt?t  ZHSO{ZICH
(C/Cygwin/home/Dex O ZHS

OfXl= AS =)

NPS_UTD_011_2 | (Waitqueue.txtol wn22 =& Ci7|2€ | “Calculate_Consumables()” =
Of 57§ Ojgtel F2) 2

NPS_UTD_011_3 | (Waitqueue.txtO] #Wn2 2 TFEE CH7|Y | "Make_User_Condition(W)” =
O] 571 O]&¢l &%) =

NPS_UTD_012_1 | (pt.current_filename®| XM E IDtAO0| & | “num_str=40, num_paper=3"&
Xt 407§ #wn 207§ 2 O|R0{7l AR) 24

NPS_UTD_013_1

num_ink, num_paper = 40, 3
(22 37 40, 22 H o[t 32 &

"Update(),

Start_Print_Condition(c)" &&

=7

f (7IFE 43 EC S o))

NPS_UTD_013_2 | Num_ink, num_paper = 3000, 200 “Make_User_Condition(C)" =
(IE YAELC 2 M) =

NPS_UTD_014_1 | (waitqueue.txtZt EX|SIX| LS ) "You move or delete

waitqueue.txt during program

being don't do that...." &%

NPS_UTD_014_2

Pt.current.filename = “runprint.txt”

C/Cygwin/home/Dex0il Zx|5}

= waitqueueOl “runprint.txt”

7t =9

NPS_UTD_015_1

Stop

“Thread_down
Mae_User_Condition('T")"

)
=9, g = HFT A ot

—

NPS_UTD_015_2

oo

ST

ST

IStop’ (AEHE0| =2|X]

g2 o)

“Make_User_Condition(S),
Recalculate_Con_Requeue

(40,3,runprint.txt, T,

Team 5




[

El
=

2.2

2.3

A

E

Ver. Identifier

pthread_create"= 2

NPS_UTD_016_1 | (Pt.current_filenameOfl A ZE EIAEO| | Result_of runprinttxt ‘&t
Had3rt 40%F, Ee 307t 3T & | Ao mEtM 1XR0]| oHHA
ir) d) ("Page AlZf1" =)

“temp_time =3, Recalculate
_Con_Requeue(40,3,runprint.txt
B’ =9

NPS_UTD_017_1 | Ink,paper file_name[20],condition = 40, | C/Cygwin/home/Dex0| ZX|id}

3/runprinttxt’, T (RAIZ2 A2E ME{E | = consumablestxtO Y3 et

WSt 32

Hol

fot

J

F0|7} -40, -35= A=

NPS_UTD_017_2

Ink,paper,file_name[20],condition = 40
3/runprinttxt”, E (2127} BHEC=E E

th B, HH7IE2 HAF= Q)

C/Cygwin/home/Dex0l ZXH5}

—

—

waitqueue.txtO| runprint.txt

7t glofX|= AE =2

NPS_UTD_017_3 | Ink,paper file_name[20],condition = 20, | C/Cygwin/home/Dex0i Z=Xjjst
1/runprinttxt’, S (21247} @&dHL2 £ | & consumablestxtO A3 L}
o 2%, O7|Q0 HfF= A) ZO|7t +20, +1 & AS &
2l
NPS_UTD_018_1 | c='S" (227} AHERASE Lel= &Eli) | “1.time, 2.Remain 3.Printing 4.
User'E &9
NPS_UTD_018_2 | c="E' (247} A=E|YS S L2l= HEl) | “1.time, 2.Remain  3.Done
Printing 4. User'S &%
NPS_UTD_018_3 | C='W' (7] JENOIM Li7|SY¥ S LEl= | “1time, 2.Remain 3Waiting"S
2HEH) e

NPS_UTD_019_1 | Error ='U’ (&S &[X| %2 FXQ E2 H | "Not registered User!” =
e QIXt 2h

NPS_UTD_019_2 | Error = ‘W' (CHZ| 0| 7I5 M2 8% © | "Wait queue is fulll” =
= QA Zh

NPS_UTD_019_3 | Error = 'C' (22 F0| £F& I} @0{2= | "No Consumables!” £
PN A

NPS_UTD_019_4 | Error ='F (LtO] EXHSIX| S W EO | “File is not exist” &

e QX g

(]|
=]

Test items

8.1 Test case Identification
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Input specifications
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8.1 Test case Identification &=
Output specifications

8.1 Test case Identification &=

Environmental needs
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Hardware & Platform : Intel Core™ i5-5200U CPU 2.20GHz, Ram 4GB, 64bit operation system

& Cygwin

Unit test summary report

4.1

A

E

Test summary report identifier

|dentifier Result
NPS_UTD_001_1 Passed
NPS_UTD_001_2 Passed
NPS_UTD_001_3 Passed
NPS_UTD_001_4 Passed
NPS_UTD_002_1 Passed
NPS_UTD_002_2 Passed
NPS_UTD_002_3 Passed
NPS_UTD_003_1 Passed
NPS_UTD_003_2 Passed
NPS_UTD_004_1 Passed
NPS_UTD_004_2 Passed
NPS_UTD_004_3 Passed
NPS_UTD_005_1 Passed
NPS_UTD_005_2 Passed
NPS_UTD_005_3 Passed
NPS_UTD_006_1 Passed
NPS_UTD_006_2 Passed
NPS_UTD_006_3 Passed
NPS_UTD_007_1 Passed
NPS_UTD_007_2 Passed
NPS_UTD_008_1 Passed
NPS_UTD_008_2 Passed
NPS_UTD_008_3 Passed
NPS_UTD_008_4 Passed
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1

NPS_UTD_009_1 Passed
NPS_UTD_010_1 Passed
NPS_UTD_010_2 Passed
NPS_UTD_010_3 Passed
NPS_UTD_011_1 Passed
NPS_UTD_011_2 Passed
NPS_UTD_011_3 Passed
NPS_UTD_012_1 Passed
NPS_UTD_013_1 Passed
NPS_UTD_013_2 Passed
NPS_UTD_014_1 Passed
NPS_UTD_014_2 Passed
NPS_UTD_015_1 Passed
NPS_UTD_015_2 Passed
NPS_UTD_016_1 Passed
NPS_UTD_016_1 Passed
NPS_UTD_017_1 Passed
NPS_UTD_017_2 Passed
NPS_UTD_017_3 Passed
NPS_UTD_018_1 Passed
NPS_UTD_018_2 Passed
NPS_UTD_018_3 Passed
NPS_UTD_019_1 Passed
NPS_UTD_019_2 Passed
NPS_UTD_019_3 Passed
NPS_UTD_019_4 Passed
Evaluation

Total test case : 497}

Passed : 4971

Failed : 07
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